Chapter 2

Electrostatics

2.1 The Electric Field
2.1.1 Introduction

The fundamental problem electromagnetic theory hopes to solve is this (Fig. 2.1): We have
some electric charges. ¢4, g2, §3. . . - {call them source charges); what force do they exert
on another charge,  (call it the test charge)? The positions of the source charges are given
(as functions of time); the trajectory of the test particle is to be calculated. In general, both
the source charges and the test charge are in motion.

The solution to this problem is facilitated by the principle of superposition, which states

that the interaction between any two charges is completely unaffected by the presence of |

others. This means that to determine the force on (0, we can first compute the force Fy, due
to ¢y alone (ignoring all the others); then we compute the force F7, due to g2 alone; and so
on. Finally, we take the vector sum of all these individual forces: F =Fy + F2 + Fy + ...
Thus, if we can find the force on Q due to a single source charge g, we are, in principle,
done (the rest is just a question of repeating the same operation over and over, and adding
it all up).!

- Well, at first sight this sounds very easy: Why don’t T just write down the formula for
the force on 0 due to ¢, and be done with it? 1 could, and in Chapter 10 I shall, but you
would be shocked to see it at this stage, for not only does the force on Q depend on the
separation distance 2 between the charges (Fig. 2.2), it also depends on both their velocities
and on the acceleration of g. Moreover, it is not the position, velocity, and acceleration
of g right now that mattet: Electromagnetic “news” travels at the speed of light, so what
concerns  is the position, velocity, and acceleration g had at some earlier time, when the
message left,

) "The principle of suiperposition may seem “obvious™ to you, but it\‘did not have 1o be so simple: if the electromag-
netic force were proportional to the square of the total source charge, for instance, the principle of superposition
would not hold, since {gy + qz)2 # qlz + q% (there would be “cross terms” to consider). Superposition is not a
togical necessity, but an experimental fact,
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"Source” charges "Test” charge q

Figure 2.1 Figure 2.2

Therefore, in spite of the fact that the basic question (“What is the force on Q due to
g7'} is easy to state, it does not pay to confront it head on; rather, we shall go at it by
stages. In the meantime, the theory we develop will permit the solution of more subtle
electromagnetic problems that do not present themselves in quite this simple format. To
begin with, we shall consider the special case of electrostatics in which all the source
charges are stationary (though the test charge may be moving).

2.1.2 Coulomb’s Law

What is the force on a test charge Q due to a single point charge g which is at rest a distance
» away? The answer (based on experiments) is given by Coulomb’s law:

1 gq0@,
F= =k 2.1
den 22 * @b

The constant ¢ is called the permitivity of free space. In SI units, where force is in
Newtons (N), distance in meters (m), and charge in coulombs (C),

n_C
€ = 8.85x 10 m.

In words, the force is proportional to the product of the charges and inversely proportional
to the square of the separation distance. As always (Sect. 1.1.4), 4 is the separation vector
from r' (the location of ¢} to r (the location of Q)

a=r—r; Q.2)

4 is its magnitude, and 4 is its ditection. The force points along the line from g to Q; itis
repulsive if ¢ and  have the same sign, and attractive if their signs are opposite.

Coulomb’s law and the principle of superposition constitute the physical input for
electrostatics—the rest, except for some special properties of matter, is mathematical elab-
oration of these fundamental rules.
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Problem 2.1
{a) Twelve equal charges, ¢, are situated at the comers of a regular 12-sided polygon (for
instance, one on each numeral of a clock face). What is the net force on a test charge ( at the
center?

{b) Suppose one of the 12 g's is removed (the one at “6 o'clock™). What is the force on 7
Explain your reasoning carefully.

(c) Now 13 equal charges, g, are placed at the comets of a regular 13-sided polygon. What is
the force on a test charge ( at the center?

(d) If one of the 13 ¢’s is removed, what is the force on Q7 Explain your reasoning.

2.1.3 The Electric Field

If we have several point charges g1, 42, . . . . gn, at distances 2y, 42, ..., 2n from Q, the total
force on Q is evidently
1 12, | @Q.
F = Fi+F+...= q—241+—2&2+...
dmeo \ %3

47ey 2

x x ¥
0 {q 1+q22+4323+_‘_ ,
A

or
@
where .
1 gi -~
= =4, 2.4)
E@) = ;4? i

E is called the electric field of the source charges. Notice that it is a function of position (r),
because the separation vectors 4; depend on the location of the field point P (Fig. 2.3). Eut
it makes no reference to the test charge Q. The electric field is a vector quantity that varies

Source point

Figure 2.3
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from point to point and is determined by the configuration of source charges; physically,
E(r) is the force per unit charge that would be exerted on a test charge, if you were to place
one at P.

What exactly is an electric field? I have deliberately begun with what you might call
the “minimal” interpretation of E, as an intermediate step in the calculation of electric
forces. But I encourage you to think of the field as a “real” physical entity, filling the
space in the neighborhood of any electric charge, Maxwell himself came to believé that
electric and magnetic fields represented actual stresses and strains in an invisible primordial
jellylike “ether.” Special relativity has forced us to abandon the notion of ether, and with it
Maxwell’s mechanical interpretation of electromagnetic fields. (It is even possible, though
cumbersome, to formulate classical electrodynamics as an “action-at-a-distance” theory,
and dispense with the field concept altogether.) I can’t tell you, then, what a field is—only
how to calculate it and what it can do for you once you've got it.

Problem 2.2

(a) Find the electric field (magnitude and direction) a distance z above the midpoint between
two equal charges, ¢, a distance d apart (Fig. 2.4). Check that your result is consistent with
what you'd expect when z > d.

{b) Repeat part (a), only this time make the right-hand charge —g instead of +4.

(a) Continuous
distribution
z da’ A _-*P

R E——
g d2 ¢ di2 g (c) Surface charge, ¢ (d) Vohime charge, p

Figure 2.4 Figure 2.5

214 Continuous Charge Distributions

Our definition of the electric field (Eq. 2.4), assumes that the source of the field is a collection

- of discrete point charges ;. If, instead, the charge is distributed continuously over some

region, the sum becomes an integral (Fig. 2.5a):

1 .
E(r) = m[ﬁ‘dq' 2.5
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If the charge is spread out along a line (Fig. 2.5b), with charge-per-unit-length A, then
dq = Adl' (where d!’ is an clement of length along the line); if the charge is smeared
out over a surface (Fig. 2.5¢), with charge-per-unit-area o, then dg = o da’ (where da’
is an element of area on the surface); and if the charge fills a volume (Fig. 2.5d), with
charge-per-unit-volume o, then dg = p dt’ (where dt’ is an element of volume):

dg > 2dl' ~odd ~ pdr’.

Thus the electric field of a line charge is

I A(ry, :
Er = — [ 240, (2.6)
4me 42
for a surface charge,
1 o), .,
E(r) = f —=—4&da"; 2.7
4mreg 22
and for a volume charge,
1 R
E@m = —f PO s ar. 2.8)
A eg 2? »
v

Equation 2.8 itself is often referred to as “Coulomb’s law,” because it is such a short
step from the original (2.1), and because a volume charge is in 2 sense the most general
and realistic case. Please note carefully the meaning of 4 in these formulas. Originally, in
Eq. 2.4, 4; stood for the vector from the source charge g; tothe field pointr. Correspondingly,
ianqs. 2.5-2.8, 4 is the vector from dq (therefore from dl’, da’, or dt') to the field point
r.

Example 2.1

Find the electric field a distance z above the midpoint of a straight line segment of length 2L,
which carries a uniform line charge A (Fig. 2.6).

Solution: It is advantageous to chop the line up into symmetrically placed pairs (at ), for
then the horizontal components of the two fields cancel, and the net field of the pair is

dE = ZL (ﬂ)cosﬂi.
dmeg \ 22

2 Warning: The unit vector 4 is not constant; its direction depends on the source point r’, and hence it cannot be
taken outside the integrals 2.5-2.8. In practice, you must work with Cartesian components (%, #, % are constant,
and do come o), even if ¥ou use curvilinear coordinates to perform the integration.

2.1. THE ELECTRIC FIELD 63
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2
dx
-L 5 +L x
Figure 2.6

Here cosd = z/%,2 = v/z2 + x2, and x runs from O to

1t 2
E = 4
47'60fo @+

L

0

.o [ x ]
4meg sz
1 2AL
and it aims in the z-direction,
For points far from the line (z L), this result simplifies:

Ex LZA_L!
dmey 72

which makes sense: From far away the line “looks” like a point charge ¢ = 2L, 50 the field
teduces to that of point charge g/(menz?). Inthe limit L — 0, on the other hand, we obtain
the field of an infinite straight wire:

_
" dmey z

or, more generally,
I 24

T dmeg 5 29

where s is the distance from the wire.

Problem 2.3 Find the electric field a distance z above one end of a straight line segment of
lepgth L (Fig. 2.7), which carries a uniform line charge A. Check that your formula is consistent
Wwith what you would expect for the case z >» L.
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Problem 2.4 Find the electric field a distance z above the center of a square loop (side a)
carrying uniform line charge A (Fig. 2.8). [Hint: Use the result of Ex. 2.1.]

Problem 2.5 Find the electric field a distance z above the center of a circular loop of radius »
{Fig. 2.9), which carries a uniform line charge A.

Problem 2.6 Find the electric field a distance z above the center of a flat circular disk of radius
R (Fig. 2.10), which carries a uniform surface charge o. What does your formula give in the
limit R — oco? Also check the case z 3> R.

Problem 2.7 Find the electric field a distance z from the center of a spherical surface of radius
R (Fig. 2.11), which carries a uniform charge density ¢. Treat the case z < R (inside) as well
as z > R (outside). Express your answers in terms of the total charge g on the sphere. [Hinz:
Use the law of cosines to write 2 in terms of R and 8. Be sure to take the positive square root:

VRE 4+ 22— 2Rz =(R—2)ifR >z, butit’s (z — R)if R < 2]

Problem 2.8 Use your result in Prob. 2.7 to find the field inside and outside a sphere of radivs
R, which carries a uniform volume charge density p. Express your answers in terms of the
total charge of the sphere, g. Draw a graph of |E| as a function of the distance from the center.

.

Figure 2.10 Figure 2.11
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pivergence and Curl of Electrostatic Fields

2.2.1 Field Lines, F]ux, and Gauss’s Law

In principle, we are done with the subject of electrostatics. Equation 2.8 tells us how to
compute the field of a charge distribution, and Eq. 2.3 tells us what the force on a charge @
placed in this field will be. Unfortunately, as you may have discovered in working Prob, 2.7,
the integrals involved in computing E can be formidable, even for reasonably simple charge
distributions. Much of the rest of electrostatics is devoted to assembling a bag of tools and
tricks for avoiding these integrals. It all begins with the divergence and curl of E. 1 shall
calculate the divergence of E directly from Eq. 2.8, in Sect. 2.2.2, but first I want to show
you a more qualitative, and perhaps more illuminating, intuitive approach.

Let’s begin with the simplest possible case: a single point charge g, situated at the

origin: ,
To get a “feel” for this field, I might sketch a few representative vectors, as in Fig. 2.12a.
Because the field falls off like 1/r%, the vectors get shorter as you go farther away from the
origin; they always point radially outward. But there is a nicer way to represent this field,
and that’s to connect up the arrows, to form field lines (Fig. 2.12b). You might think that [
have thereby thrown away information about the strength of the field, which was contained
in the length of the arrows. But actually I have not. The magnitude of the field is indicated
by the density of the field lines: it's strong near the center where the field lines are close
together, and weak farther out, where they are relatively far apart.

Intruth, the field-line diagram is deceptive, when I draw it on a two-dimensional surface,
for the density of lines passing through a circle of radius r is the total number divided by the
circumference (n/2mr), which goes like (1/r), not (1/r2). But if you imagine the model in
three dimensions (a pincushion with needles sticking cut in all directions), then the density
?If Iir;es is the total number divided by the area of the sphere (n/4rr?), which does go like

/e,

A
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Figure 2,12
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Equal but opposite charges

Figure 2.13

Such diagrams are also convenient for representing more complicated fields. Of course,
the number of lines you draw depends on how energetic you are (and how sharp your pencil
is), though you cught to include enough to get an accurate sense of the field, and you must
be consistent: If charge g gets 8 lines, then 2¢ deserves 16. And you must space them
fairly—they emanate from a point charge symmetrically in all directions. Field lines begin
on positive charges and end on negative ones; they cannot simply termminate in ridair, though
they may extend out to infinity. Moreover, field lines can never cross—at the intersection,
the field would have two different directions at once! With all this in mind, it is easy to
sketch the field of any stmpie configuration of point charges: Begin by drawing the lines
in the neighborhood of each charge, and then connect them up or extend them to infinity
(Figs. 2.13 and 2.14).

Equal charges

Figure 2.14
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E

Figure 2.15

In this model the flux of E through a surface 8,
¢’£EIE-da, (2.11)
S

is a measure of the “number of field lines” passing through &. 1 put this in quotes because of
course we can only draw a representative sample of the field lines—the tofal number would
be infinite. But for a given sampling rate the flux is proportional to the number of lines
drawn, because the field strength, remember, is proportional to the density of field lines
(the number per unit area), and hence E - da is proportional to the number of lines passing
through the infinitesimal area da. {The dot product picks out the component of da along
the direction of E, as indicated in Fig. 2.15. It is only the area in the plane perpendicular
1o E that we have in mind when we say that the density of field lines is the number per unit
area.)

This suggests that the flux through any closed surface is a measure of the total charge
inside. For the field lines that originate on a positive charge must either pass out through
the surface or else terminate on a negative charge inside (Fig. 2.16a). On the other hand, a
charge outside the surface will contribute nothing to the total flux, since its field lines pass
in one side and out the other (Fig. 2.16b). This is the essence of Gauss’s law. Now let's
make it quantitative,

(b)

Figure 2.16
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In the case of a point charge ¢ at the origin, the flux of E through a sphere of radivs r is

fﬂ-da:f-‘— (if)-(rzsinﬂdﬂdq&f'):—l-q. 2.12)
dmep \r? €0
Notice that the radius of the sphere cancels out, for while the surface area goes up as r?, the
field goes down as | /rz. and so the product is constant. In lerms of the field-line picture, this
makes good sense, since the same number of field lines passes through any sphere centered
at the origin, regardless of its size. In fact, it didn’t have to be a sphere—any closed surface,
whatever its shape, would trap the same number of field lines. Evidently the flux through
any surface enclosing the charge is q /€.

Now suppose that instead of a single charge at the origin, we have a bunch of charges
scattered about. According to the principle of superposition, the total field is the (vector)

sum of all the individual fields: .
E=) E.
i=1

The flux through a surface that encloses them all, then, is
n n 1
fran-y(fran) -3 (Gn)
i= i=

For any closed surface, then,

.%Edaz iQenc: (213)
€0
S

where Qenc is the total charge enclosed within the surface. This is the guantitative state-
ment of Gauss’s law. Although it contains no information that was not already present in
Coulomb’s law and the principle of superposition, it is of almost magical power, as you will
see in Sect. 2.2.3. Notice that it all hinges on the 1/r2 character of Coulomb’s law; without
that the crucial cancellation of the r’s in Eq. 2.12 would not take place, and the total flux
of E would depend on the surface chosen, not merely on the total charge enclosed. Other
1/¢? forces (I am thinking particularly of Newton’s law of universal gravitation) will obey
“Gauss's laws™ of their own, and the applications we develop here carry over directly.

As it stands, Gauss’s law is an integral equation, but we can readily turn it into a
differential one, by applying the divergence theorem:

fE-da:f(VﬂE)dr.
S v

Rewriting (enc in terms of the charge density p, we have °

Qenc = fﬂdl'.

Vv
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f(vma:f(ﬂ) dr.
€0
v Vv

And since this holds for any volume, the integrands must be equal:

§o Gauss's law becomes

€

Equation 2.lf4 carrie‘s the same message as Eq. 2.13; it is Gauss’s law in differential
form. The differential version is tidier, but the integral form has the advantage in that it
accommodates point, line, and surface charges more naturally.

Problem 2.9 Suppose the electric field in some region is found to be E = &r3F, in spherical
coordinates (k is some constant).

(a) Find the charge density p.
(b) Find the total charge contained in a sphere of radius R, centered at the origin. (Do it two
different ways.)

Problem 2.10 A charge g sits at the back corner of a cube, as shown in Fig. 2.17. What is the
flux of E through the shaded side?

222 The Divergence of E

Ler’s go back, now, and calculate the divergence of E directly from Eq. 2.8:

1 H
Er)= —-— = Y '
(r) e f Zp)dr. (2.15)
all space

{Origi . .
Wcllg;::“):.lt-he Integration was over the volume occupied by the charge, but I may as
end it to all space, since p = 0 in the exterior region anyway.) Noting that the

V-E=—p. (2.14)°
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r-dependence is contained in4 = r — r’, we have

| .
V.E= fv. 2\ pydr.
4meq 2?

This is precisely the divergence we calculated in Eq. 1.100:

v. (:—é) = 4n8 ().

Thus

L
V.E= L 4x83r — r)p(r'ydr = — p{p), (2.16)
4mrep €0

which is Gauss’s law in differential form (2.14). To recover the integral form (2.13), we
run the previous argument in reverse—integrate over a volume and apply the divergence

theorem: 1 1
fV-Edr:%E-da=—fpdl'=“Qenc-
€ €0
S Vv

v

2.2.3 Applications of Gauss’s Law

1 must interrpt the theoretical development at this point to show you the extraordinary
power of Gauss's law, in integral form. When symmetry permits, it affords by far the
quickest and easiest way of computing electric fields. I'll illustrate the method with a series
of examples.

Example 2.2
Find the field outside a uniformly charged solid sphere of radius R and total charge 4.

Solution: Draw a spherical surface at radius » > R {Fig. 2.18); this is called a “Gaussian
surface” in the trade. Gauss’s law says that for this surface (as for any other)

1
fE'da= — Qene,
€0
S

and Qenc = g. At first glance this doesn’t seem to get us very far, because the quantity we
want (E) is buried inside the surface imtegral. Luckily, symmetry allows us to extract E from
under the integral sign: E certainly points radially outward,? as does d#, so we can drop the

dot product,
[E-da=f|E{da.
S S

31£ you doubt that K is radial, consider the alternative. Suppose, say, that it points due east, at the “equator.” But
the orientation of the equator is perfectly arbitrary—nothing is spinning here, so there is no natural “north-south”
axis—any argament purporting to show that E points east could just as well be used to show it points west, oF
north, or any other direction. The only unique direction on a sphere is radial.

[
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Gaussian
surface

—r N

Figure 2.18

and the magnitude of E is constant over the Gaussian surface, so it comes outside the integral:

[|E|da = IEl[ da = |E|dnr2.
S )

Thus
[E|4mr? = —g,
or
l ¢
E= —=Z¢%
dreg 2

Notice a remarkable feature of this result: The field outside the sphere is exactly the same as
it would have been if all the charge had been concentrated at the center

Gauss's law is always true, but it is not always useful. If p had not been uniform {or, at
any rate, not spherically symmetrical), or if [ had chosen some other shape for my Gaussian
surface, it would still have been true that the flux of E is {1/€g)q, but I would not have
been certain that E was in the same direction as da and constant in magnitude over the-
surface, and without that 1 could not pull |[E| out of the integral. Symmetry is crucial to this

ai’PlIication of Gauss’s law. As far as I know, there are only three kinds of symmetry that
work:

I Sph:ericat symmetry. Make your Gaussian surface a concentric sphere.

2. Cylindrical symmetry. Make your Gaussian surface a coaxial cylinder
(Fig. 2.19).

Plfme symmetry. Use a Gaussian “pillbox,” which straddles the surface

(Fig. 2.20).

A . oo

in'[;:(')tug'h 2) aqd (3) technically requite infinitely long cylinders, and planes extending to

oyl ldy in al}‘ directions, we shall often use them to get approximate answers for “long”
hders or “large”” plane surfaces, at points far from the edges.
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Gaussian
pillbox

\

Gaussian surface

Figure 2.19

Example 2.3

A long cylinder (Fig. 2.21) carries a charge density that is proportional to the distance from
the axis: o = ks, for some constant k. Find the electric field inside this cylinder.

Solution: Draw a Gaussian cylinder of length ! and radius s. For this surface, Gauss's law
states:

t
%E-dﬂ= — Oene-
€0
S

The enclosed charge is
5
Qenc = | pdt = [ (ks'Ws'ds" dpdz) = 2kl s2ds' = Imkls,
A 3

(1 used the volume element appropriate to cylindrical coordinates, Eq. 1.78, and integrated ¢
from Oto 27, dz from O to {. 1 put a prime on the integration variable ¥, to distinguish it from
the radius s of the Gaussian surface.)

I

Gaussian
E surface

Figure 2.21
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Now, symmetry dictates that E must point radially outward, so for the curved portion of the
Gaussian cylinder we have:

fE-da=flE|da:lE|f da = |E| 2rrsi,
while the two ends contribute nothing (here E is perpendicular to 4a). Thus,
B 2est = - Zkds?,
€3
or, finally,

1
E= —ks%s
3 5“8

Example 2.4

An infinite plane carries a uniform surface charge o, Find its electric field.

Sq]uﬂon: Draw a “Gaussian pillbox,” extending equal distances above and below the plane
(Fig. 2.22). Apply Gauss's Jaw to this surface:

fE -da = lQeno
€0

In this case, Qenc = 0 A, where A is the area of the lid of the pillbox. By symmetry, E points

away from the plane (upward for points above, downward for points below), Thus, the top and
bottom surfaces yield -

Figure 2.22
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whereas the sides contribute nothing. Thus

1
2A|E| = —o A,
€0
or
E=-"i 217
2en

where it is a unit vector pointing away from the surface. In Prob. 2.6, you obtained this same
result by a much more laborious method.

It seems surprising, at first, that the field of an infinite plane is indeperdent of how far away
you are. What about the 1/ +? in Coulomb’s law? Well, the point is that as you move farther
and farther away from the plane, more and more charge comes into your “field of view™ (a
cone shape extending out from your eye), and this compensates for the diminishing influence
of any particular piece. The electric field of a sphere falis off like | /r2; the electric field of an
infinite line falls off like 1 /#; and the electric field of an infinite plane does not fall off at ali.

Although the direct use of Gauss's law to compute electric fields is limited to cases of
spherical, cylindrical, and planar symmetry, we can put together combinations of objects
possessing such symmetry, even though the arrangement as a whole is not symmetrical,
For example, invoking the principle of superposition, we could find the field in the vicinity
of two uniformly charged parallel cylinders, or a sphere near an infinite charged plane,

Example 2.5

Two infinite paralle] planes carry equal but opposite uniform charge densities +o (Fig. 2.23).
Find the field in each of the three regions: (i) to the left of both, (ii) between them, (i) to the
right of both.

Solation: The left plate produces a field (1/2eg)o which points away from it (Fig. 2.24)—to
the left in region (i) and to the right in regions (ii) and (iii). The right plate, being negatively
charged, produces a field (1/2eg)o, which points foward it—to the right in regions (i) and
(i1} and to the left in region (iii). The two ficlds cancel in regions (i) and (iii}; they conspire
in region (i1). Conclusion: The field is (1/€p)o, and points to the right, between the planes;
elsewhere it is zeto.

E, E. E,
(i (i) (iii)
E_ E_ E_
(i) (ii) (iii)
+0 - ]

+3 -

Figure 2.23 Figure 2.24
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Problem 2.11 Use Gauss’s law to find the electric field inside and outside a spherical shell of
radius R, which carries a uniform surface charge density 0. Compare your answer to Prob. 2.7,

Problem 2.12 Use Gauss’s law to find the electric field inside a uniformly charged sphere
(charge density p). Compare your answer to Prob, 2.8.

Problem 2.13 Find the electric ficld a distance 5 from an infinitely long straight wire, which
carries a uniform line charge A. Compare Eq, 2.9.

Problem 2.14 Find the electric field inside a sphere which carries a charge density proportional
to the distance from the origin, p = kr, for some constant k. [Hint: This charge density is not
uniform, and you must integrate to get the enclosed charge.]

Problem 2.5 A hollow spherical shell carries charge density

_k
P="3

in the region @ < < b (Fig. 2.25). Find the electric field in the three regions: (i) 7 < a, (i)
a# <r<b, (ii)r > b, Plot |[E| as a function of r.

Problem 2.16 A long coaxial cable (Fig. 2.26) carries a uniform volume charge density p on
the inner cylinder (radius @), and a uniform surface charge density on the outer cylindrical
shell (radius b). This surface charge is negative and of Jjust the right magnitude so that the
cable as a whole is electrically neutral, Find the electric field in each of the three regions: (i)
inside the inner cylinder (s < ), (ii) between the cylinders (@ < 5 < b), (iii) ovtside the cable
(s > b). Plot |E| as a function of 5.

Problem 2.17 An infinite plane slab, of thickness 2, carries a eniform volume charge density
p (Fig. 2.27). Find the electric field, as a function of ¥, where y = () at the center. Plot E
versus y, calling £ positive when it points in the +y direction and negative when it points in
the —y direction.

Problem 2.18 Two spheres, each of radius R and cartying uniform charge densities +p and
~#. respectively, are placed so that they partially overlap (Fig. 2.28). Call the vector from the
positive center to the negative center d. Show that the field in the region of overlap is constant,
and find its value, {Hint: Use the answer to Prob. 2.12.}

Figure 2.25 Figure 2.26
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224 The Curlof E

'l calculate the curl of E, as 1 did the divergence in Sect, 2.2.1, by studying first the simplest
possible configuration: a point charge at the origin. In this case

Now, a glance at Fig. 2.12 should convince you that the cur] of this field has to be zero, but
1 suppose we ought to come up with something a little more rigorous than that. What if we
calculate the line integral of this field from some point a to some other point b (Fig. 2.29)

b
[ E-dl
a

In spherical coordinates, dl = dr ¥ + r d6 6 +rsin0de ¢, so

1 q
E-dl= —=dr.
4meq r? !
Therefore,
b b _ s ]
fE-dl: ! f%dr=_ii - (2_9), @i
a dmeg Ju T dneqr|,, dmeg \rg 1

where r, is the distance from the origin to the point a and rp is the distance to b. The
integral around a closed path is evidently zero (for then ry = rp):

fE-dl:O, 2.19

23, ELECTRIC POTENTIAL 1

Figure 2.29

and hence, applying Stokes’ theorem,

(2.20)

Now, I proved Egs. 2.19 and 2.20 only for the field of a single point charge at the origin,
but th_esc results make no reference to what is, after all, a perfectly arbitrary choice of
coordinates; they also hold no matter where the charge is located, Moreover, if we have

many ch-argcs, the principle of superposition states that the total field is a vector sum of
their individual fields:

E=E +E+...,
50
VXxE=Vx(E +E+..)=(VxE)+(VxE)}+...=0.

Thus, Egs. 2.19 and 2.20 hold for any static charge distribution whatever.

Problem 2:19 Calculate ¥ x E directly from Eq. 2.8, by the method of Sect. 2.2.2. Refer to
Prob. 1.62 if you get stuck.

Electric Potential

23.1 Introduction to Potential

“:c:;:::tt;?l :"1(‘::]'11 E is not :iust any old vector functaion: it is a very special kind of vector
an elecl;os{a{ic ﬁO]::; curl is always zero. E = y&, for example, could not possibly be
produce such g eld, Irw set of charges,, regarldless of their sizes and positions, could ever
€lds 0 reducs aeve.l n this section we're going to exploit this special property of electric
first theorer | ctor problem (finding E) down to a much simpler scalar problem. The

M in Sect. 1.6.2 asserts that any vector whose curl is. zero is equal to the gradient

of some 5
scalar, What " i .
o electrostatics. ™ going to do now amounts to a proof of that claim, in the context
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(ii}

Figure 2.30

ne integral of E around any closed loop is zero .(that follmla\.'st
xes' theorem). Because § E - dl =0, the line integral of E from point sln Otrc: po:i:h
;ﬂi]:]ﬂ;s::afne for ali paths (otherwise you could go out along path (11) ai!:f:i Z;t::g; ; ofg :mh
. Fig i i tegral 1s .
ii}—Fi btain ¢ E - d1 # 0). Because the line in
(ii—Fig. 2.30—and o

we can define a function

Because V x E= 0, the li

2.2

[ O s SOm stal da.ld lelc ence pO] t on wlll W have a; eﬁd beio]ellall b 'he
H 1 c Tl T 1 Ch ¢ have gl‘ d. n
e

i is called the electric potential.
depends only on the point r. It is ca : .
lﬂ’p‘;ivridentl_\,r. the potential difference between two points a and b is

b a
= - -dl+f E-dl
V(b)) — V(a) fOE o

b
= —be-dl—fOE'dl=—f E-dl (2.22)
- (@) a a

Now, the fundamental theorem for gradients states that

b
vm-w_m:f (VV)-dl.

b b
f(VV)-dl:—[ E-dl.
a a

his is true for any points & and b, the integrands must be equal:

o

i i is the
Equation 2.23 is the differential version of Eq. 2.21: it says that the electric field 1
gradient of a scalar potential, which is what we set out to prove.

80

Since, finally, t

j i integration variable:
470 avoid any possible ambiguity 1 shauld perhaps put a prime on the integra
r
Vi =- f E)-dl.
o

is makes for cumbersome notation, and I prefer w T | : prime
g‘;:;::;:“ :fhen (as in Ex, 2.6) we calculate such integrals explicitly, I shall put in the primes

. (nts.
henever possible to reserve the primes for source poin
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Notice the subtle but crucial role played by path independence (or, equivalently, the fact
that V x E = 0) in this argument. If the line integral of E depended on the path taken, then
the “definition” of V', Eq. 2.21, would be nonsense. It simply would not define a function,
since changing the path would alter the value of V (r). By the way, don’t let the minus sign
in Bg. £.22 QISITACT YOU; 1t CATTIES OVET ITOM £.Z1 and 1S largely a matter of CONvention.

Problem 2.20 One of these is an impossible electrostatic field. Which one?
(A E =k[xyX +2yz¥ + 3xz3);
®YE = k[y? & + (2xy + 29§ + 2yz1).

Here & is a constant with the appropriate units. For the possible one, find the potential, using
the origin as your reference point. Check your answer by computing VV. [Hinf: You must
select a specific path to integrate along. It doesn’t matter what path you choose, since the

answer is path-independent, but you simply cannot integrate unless you have a particular path
in mind.]

2.3.2 Comments on Potential

(i) The name. The word “potential” is a hideous misnomer because it inevitably
reminds you of potential energy. This is particularly confusing, because there is a connection
between “potential” and “potential energy,” as you will see in Sect. 2.4. I'm sorry that it
is impossible to escape this word. The best 1 can do is to insist once and for all that
“potential” and “potential energy” are completely different terms and should, by all rights,

have different names. Incidentally, a surface over which the potential is constant is called
an equipotential.

(ii} Advantage of the potential formulation. If you know V, you can easily get
E-—just take the gradient: E = -V V. This is quite extraordinary when you stop to think
about it, for E is a vector quantity (three components), but V is a scalar (one component).
How can one function possibly contain all the information that three independent functions
carry? The answer is that the three components of E are not really as independent as

they look; in fact, they are explicitly interrelated by the very condition we started with,
¥ xE =0. In terms of components,

aEx . aEy BEZ _ aE). aEX _ aEz

dy ~ ax’  ay 9z’ 8 4x
;”‘lj b;ings us back to my observation at the beginning of Sect. 2.3.1: E is a very special
md of v,

ad ector. What the potential formulation does is to exploit this feature to maximum
: vant.age, reducing a vector problem down to a scalar one, in which there is no need to
USs with components.
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(iii) The reference point O.  There is an essential ambiguity in the definition of
potential, since the choice of reference point O was arbitrary. Changing reference points
amounts to adding a constant K to the potential:

r o r
V'{r):—f E-dl:—f Eidl—fE-dl=K+V(r),
o o (o]

where K is the line integral of E from the old reference point O to the new one o, Of
cotrse, adding a constant to V will not affect the potential difference between two points:

V'(b) — V'(a) = V(b) — V(a),

since the K's cancel out. (Actually, it was already clear from Eq. 2.22 that the potential
difference is independent of O, because it can be written as the line integral of E fromato
b, with no reference to O.) Nor does the ambiguity affect the gradient of V:

vy =VV,

since the derivative of a constant is zero. That's why all such V’s, differing only in their
choice of reference point, correspond to the same field E.

Evidently potential as such carries no real physical significance, for at any given point
we can adjust its value at will by a suitable relocation of (. In this sense it is rather like
altitude: If 1 ask you how high Denver is, you will probably tell me its height above sea level,
because that is a convenient and traditional reference point. But we could as well agree
to measure altitude above Washington D.C., or Greenwich, or wherever. That would add
{or, rather, subtract) a fixed amount from all our sea-level readings, but it wouldn’t change
anything about the real world. The only quantity of intrinsic interest is the difference in
altitude between two points, and that is the same whatever yous reference level.

Having said this, however, there is a “natural” spot to use for O in electrostatics—
analogous to sea level for altitude—and that is a point infinitely far from the charge. Or-
dinarily, then, we “set the zero of potential at infinity.” (Since V() = 0, choosing a
reference point is equivalent to selecting a place where V is to be zero.) But I must wam
you that there is one special circumstance in which this convention fails: when the charge
distribution itself extends to infinity. The symptom of trouble, in such cases, is that the
potential blows up. For instance, the field of a uniformly charged plane is (@ [2ep)i, as we
found in Ex. 2.4; if we naively put O = 0o, then the potential at height z above the plane
becomes

1 1
V()= — —ogdz=—-—0(z — o)
oo 260 2en
The remedy is simply to choose some other reference point {in this problem you might use
the origin). Notice that the difficulty occurs only in textbook problems; in “real life” there
is no such thing as a charge distribution that goes on forever, and we can always use infinity
as our reference point.

2.3. ELECTRIC POTENTIAL
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) P . .
" gfvil e::{t:;:jt;::l:;:zgs p:::: fmperp;])smon principle.  The original superposition princi
_ ains to the force on a test char ‘ .
_ ge . It says the
on (2 is the vector sum of the forces attributable to the source (:hargesy :ndi‘:r[iill:t::l‘;'t'al oree

F=F +F;+. ..
Dividing through by Q, we find that the electric field, too obeys the superposition principl
\ sthe s s ciple:
E=E +E;+...

ntegrating fr()m the CoOmMmon r ce l]( DIIII tor,itfo OWwWS 'Ihal the S0 S,
] ! Cfe] CI 1 i i
: i l . L} " pOten[la] a]. 0 ¢ ﬂtisﬁes

V=Vi+WV+. ..

That is, the i i int i
potential at any given point is the sum of the potentials due to all the source

Cha.rges Sepal ﬂtely Only th]s time s mary su ¥ {els W ]
: . 1t 1S an Onj i
sum, not a vecr sum, hlch makc. i

(v) Units of Potential. 1 i
. n our units, force is i
ot s of Po . , s measured in newtons and charge j
« rlewwn_meter;:tnc ﬁe]c:s are in newtons per coulomb. Accordingly, potential is mcaig ; ]3
per coulomb or joules per coulomb, A joule per coulomb is ca\lled aL :'I:t

Example 2.6

Find the potential inside and outsi
' tside a spherical sh i i i i
uniform surface charge. Set the reference point at ii]fli:ii;adms (18 231 which caries o

Figure 2.31
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Sofution: From Gauss’s law, the field outside is
1 g.
E=-—5F,
Ameq r2

where g is the total charge on the sphere. The field inside is zero. For points outside the sphere

(r > R),

r _ I g
w Admegr’

T _l r q 1 q
e[ ga=—-{ La'= 1
Vi) fo E Anep Joo r? "= dmepr

To find the potentia! inside the sphere (r < R), we must break the integral into two sections,
using in each region the field that prevails there:

—_ R r R
V(r)=—1——[ -‘%dr'—[R(O)dr"= |

dmeg Jo 7 4?!60; 00

1
T Amey

1
3

Notice that the potential is rof zero inside the shell, even though the field is. V' is a constant
in this region, to be sure, so that VV = O—that’s what matters. In problems of this type you
must always work your way in from the reference point; that’s where the potential is “nailed
down.” I is tempting to suppose that you could figure out the potential inside the sphere on
the basis of the field there alone, but this is false: The potential inside the sphere is sensitive to
what's going on utside the sphere as well. If1placed a second uniformly charged shell out at
radius B’ > R. the potential inside R would change, even though the field would still be zero.
Gauss's law guarantees that charge exterior to a given point (that is, at larger r) produces no
net field at that point, provided it is spherically or cylindrically symmetric; but there is no such
rule for potential, when infinity is used as the reference point.

Problem 2.21 Find the potential inside and outside a uniformly charged solid sphere whose
radius is R and whose total charge is g. Use infinity as your reference point. Compute the
gradient of V in each region. and check that it yields the correct field. Sketch V(r).

Problem 2.22 Eind the potential a distance s from an infinitely long straight wire that carries
a uniform line charge A, Compute the gradient of your potential, and check that it yields the
correct field.

Problem 2.23 For the charge configuration of Prob. 2.15, find the potential at the center, using
infinity as your reference point.

Problem 2.24 For the configuration of Prob. 2.16, find the potential difference between a point
on the axis and a point on the outer cylinder. Note that it is not necessary to commit yoursell
to a particular reference point if you use Eq. 2.22.

23 ELECTRIC POTENTIAL 8
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2.3.3 Poisson’s Equation and Laplace’s Equation

we found in Sect. 2.3.1 that th i . )
potential. at the electric ficld can be written as the gradient of a scalar

E=-=-VV,
The question arises: What do the fundamental equations for E

v.E___p
o and VxE=0,

look like, interms of V? Wel, V- E=V .(-VV) = —¥2
ok like s v = —V*V, s0, apart from th isti
minus sign, the divergence of E is the Laplacian of V. Gauss's lawlr) then says ti;lt)mlsnng

vy = _ 2
e (2.24)

Th-|s is lfnown as Poisson’s equation. In regions where there is no charge, so thaf =0
Poisson’'s equation reduces to Laplace’s equation, ' P

2 —_—
VeV =0. , (2.25)

We'll explore these equations more fully in Chapter 3.
So much for Gauss's law. What about the curl law? This says that

VxE=V x(-VV)

mus ! iti

m uts Zgllt;Lz:l:;. 15\:;ngtha|: 5 nrh conllgdatlon on V—curl of gradient is always zero. Of course
o show that E could be expressed as the gradient of i ‘

o : a scalar, S
:Z:ly surprising that this works out: V x E = 0 permits E = —VV; in return E!;0 ) 93(1)/‘

rant = i i ; otecmin
bccaunse e‘e;s ‘V x E = {). It takes only one differential equation (Poisson’s) to determine V
is a scalar; for E we needed mwo, the divergence and the curl. ‘

234 The Potential of a Localized Charge Distribution

Tdefined V i inar
alreadycll( r‘; ‘:1 éetr]::eof E (|Edq’ 2.21). Ordm.an]_y. though, it's E that we’re looking for (if we
easier o got ¥ ire w;):h n’t be much point in .calculating V). The idea is that it might be
Where the charpe 1 g, :::;11 hen calculate E by taking the gradient. Typically, then, we know
relates V ang s b;n( aft is, we kno.vu: ;::‘) and we want to find V. Now, Poisson’s equation
new 1 thre. unfortunately it 's the wrong way around™ it would give us p, if we
. as we want V, knowing . What we must do, then, is “invert” Poi,sson’s

Squation. That's

Lo the program for thi i .

beginn; program for this section, although I shall do it b

gihning, as always, with a point charge at the origin. by roundabout means,
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Figure 2.32

Setting the reference point at infinity, the potential of a point charge ¢ at the origin is

vy = = a4 1 q] 1 g
r)= —— —dr = - =—-.
4A7eg Joo 12 dregt'|,, Admegr

(You see here the special virtue of using infinity for the reference point: it kills the lower
limit on the integral.) Nofice the sign of V; presumably the conventional minus sign in
the definition of V (Eq. 2.21) was chosen precisely in order to make the potential of a
positive charge come out positive. It is useful to remember that regions of positive charge
are potential “hills,” regions of negative charge are potential “valleys,” and the electric field
points “downhill.” from plus toward minus.

In general, the potential of a point charge g is

Vir) = L (2.26)

where 2, as always, is the distance from the charge to r (Fig. 2.32). Invoking the superpo-
sition principle, then, the potential of a collection of charges is

v —— 38 227
T Amey T '
of, for a continuous distribution,
1 1
V()= f —-dg. (2.28)
dmen J 2
In particular, for a volume charge, it's
1 J
Vir) = / P o (2.29)
4meg s

This is the equation we were looking for, telling us how to dompute V when we know p; it
is, if you like, the “solution” to Poisson’s equation, for a localized charge distribution.” [

: - - . . ;
Equation 2.29 is an example of the Helmholtz theorem (Appendix B). in the context of electrostatics, where
the curl of E is zero and its divergence is o/€g.

2.3. ELECTRIC POTENTIAL
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invite you to compare Eq. 2. i ; .
e 28 pare Eq. 2.29 with the corresponding formula for the electric field in terms

SSTOCU S I b P
s 4?1'6{)., TGG‘E.

The main ggmt to notice is that the pesky unit vector 4 is now missing, so there is no need
to worry about components. Incidentally, the potentials of line and surface charges are

I l\,(l”) " i 0’([")
41?60.[ 2 di’ and 4,,60[ 4"1'7’- (2.30)

1 should war‘n you tl}at e?rerythi-ng in this section is predicated on the assumption that
the reference pomt is at infinity. This is hardly apparent in Eq. 2.29, but remember that we
2ot that equation from the potential of a point charge at the origin, (1/47<g)(g/r), which

is v;]hd orltly WI:IEI'I O = cc. !f you try to apply these formulas to one of those artificial
problems in which the charge itself extends to infinity, the integral will diverge.

Example 2.7

Find the potential of a uniformly charged spherical shell of radjus R (Fig. 2.33).

Solution: This is the probi i b g
Eq. 2.30: same em we soived in Ex. 2.6, but this time we shall do it using

vy = f % gd.
dmeq J 2

Let’s set the point r on the 7 axis and use the law of
angle @:

cosines to express 2 in terms of the polar

2
22 =R+ 2 ~ 2Rz cos ¥

Figure 2.33
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on this sphere is R sin 8’ do’ d¢’, so Problem 2.26 A conical surface (an empty ice-cream cone) carries a uniform surface charge
An element of surface area P o. The height of the cone is k, as is the radius of the top. Find the potential difference between
Vi < f R%sin@’ de’ d¢’ ‘ points a (the vertex) and b (the center of the top).
dmepVi(z) = o ——_R2

+22 - 2Rzcosé’

0 VR +:2 —2Rzcosd’

= 27R% (’: vRZ 42 —2chos(9’)

Z

FTODIEMm 2.4/ I'INA (e POLENDAl ON e axis 0! a umitormiy charged sohd cylinder, a distance
z from the center. The length of the cylinder is L, its radius is R, and the charge density is p.
Use your resuit to calculate the electric field at this point. (Assume that z > L/2.)

= 21R% da’

x

0

Problem 2.28 Use Eq. 2.29 to calculate the potential inside 2 uniformly charged solid sphere
27 Ro Y 2 P

= - (\/R2 + 22 42Rz-VR2+ 2 - ZRZ) of radius R and total charge g. Compare your answer to Prob, 2.21.

= ZT'ZR" [V&ET27 - VR =272,

Problem 2.29 Check that Eq. 2.29 satisties Poisson’s equation, by applying the Laplacian and

At this stage we must be very careful to take the pesitive root. For points outside the sphere, z is using Eq. 1.102.

greater than R, and hence /(R — z)2 = z— R; for points inside the sphere, v/ (R — )2 =R-1.

Thus,
R? .
Viz} = ;:—az[(R +2-(2-Rl= —60—:, outside;
Py o 235 Summary; Electrostatic Boundary Conditions
Viz} = EI(R_H)_(R—Z)] = z, inside.
0

In the typical electrostatic problem you are given a source charge distribution p, and you
want to find the electric field E it produces. Unless the symmetry of the problem adrmits a
solution by Gauss’s law, it is generally to your advantage to calculate the potential first, as
an intermediate step. These, then, are the three fundamental quantities of electrostatics: p,
E, and V. We have, in the course of our discussion, derived all six formulas interrelating
them. These equations are neatly summarized in Fig. 2.35. We began with just two exper-

In terms of the total charge on the shell, ¢ = 4r Rle, V(o) = (1/4meg)ig/z) {or, in gem_aral.
V{r) = {1 /4meg)g/r)) for points outside the sphere, and (1 /4w eg)(g/R) for points inside.

Of course, in this particular case, it was easier to get V by using 2.21 than 2.30, because
Gauss's law gave us E with so little effort. But if you compare Ex. 2.7 with Prob. 2.7, you will
appreciate the power of the potential formulation.

imental observations: (1) the principle of superposition—a broad general rule applying to

all electromagnetic forces, and (2) Coulomb's law—the fundamental law of electrostatics.
Problem 2.25 Using Egs. 2.27 and 2.30, find the petential at a distance z above the center of From these, all else followed.
the charge distributions in Fig. 2.34. In each case, compute E = —VV, and compare your
answers with Prob. 2.2a, Ex. 2.1, and Prob. 2.6, respectively. Suppose that we changed the
right-hand charge in Fig. 2.34a to —q; what then is the potential at P? What field does that

suggest? Compare your answer to Prob. 2.2b, and explain carefully any discrepancy.

R P
1 1
| I

2 Z1
I ]
| I
1 1
I I
: Al

+q d +q 2L g
(a) Two point charges (b} Uniform line charge (¢) Uniform surface charge

Figure 2.35

Figure 2.34
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Figure 2.36

You may have noticed, in studying Exs. 2.4 and 2.5, or working problems such as 2.7,
2.11, and 2.16, that the electric field always undergoes a discontinuity when you cross a
surface charge o. In fact, it is a simple matter to find the emount by which E changes at
such a boundary. Suppose we draw a wafer-thin Gaussian pillbox, extending just barely
over the edge in each direction (Fig. 2.36). Gauss’s law states that

1 1
fEda = —Qenc = —0A,
€0 €Q

S
where A is the area of the pillbox lid. (If o varies from point to point or the surface is

curved, we must pick A to be extremely small.) Now, the sides of the pillbox contribute
nothing to the flux, in the limit as the thickness e goes to zero, so we are left with

1
i
Ebove — EBLelow = 50' (231
where E ;L,me denotes the component of E that is perpendicular to the surface immediately

above, and Eterl o 1 the same, onty justbelow the surface. For consistency, we let “upward”
be the positive direction for both. Conclusion: The normal component of E is discontinuous
by an amount o /ep at any boundary. In particular, where there is no surface charge, E Lis
continuous, as for instance at the surface of a uniformiy charged solid sphere.

The tangential component of E, by contrast, is always continuous. For if we apply

Eq.2.19,
fE -dl =0,

to the thin rectangular loop of Fig. 2.37, the ends give nothing (as € — 0}, and the sides
give (E!bovel - Etl;lowt), S0

I I
Eabove = Ebclow’ (2'32)

. Mows from F;
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Figure 2.37

where E! stands for the components of E parallel to the surface. The boundary conditions
on E (Egs. 2.31 and 2.32) can be combined into a single formula:

a .,
Eabove — Epelow = an- (2.33)

where i is a unit vector perpendicular to the surface, pointing from “below” to “‘above.”®
The potential, meanwhile, is continuous across any boundary (Fig. 2.38), since

h
Vabove — Voelow = _f E-dl;

as the path tength shrinks to zero, so too does the integral:

Vabove = Vhetow- (2.34)

Figure 2.38

Mg
Otice that it doesn’ e
PN Sn “ o g e
rection of & U matter which side you call “above” and which “below,” since reversal would switch the

charge P thincidenla!l‘y, if you reA only interested in the field due to the (essemtially Rat} local pateh of surface
g : ;f:lswsr is {/2ep)ft immediately above the surface. and —(o/2ep}ii immediately below. This
- 24, for if you are close enough to the patch it “looks” like an infinite plane. Evidently the entire

ditconting i, :
i o
ity in K is aitributable to this local patch of charge.
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However, the gradient of V inherits the discontinuity in E; since E = —VV, Eq. 2.33

implies that 1
V Vibove = V Vietow = _“_Uﬁa (2.35)
or, more conveniently,
V, W
Wabone _ Oholow _ _ 1, 2.36)
on an €

B where av
: —=VV.i @37

* on

: denotes the normal derivative of V (that is, the rate of change in the direction perpendicular

to the surface).
Please note that these boundary conditions relate the fields and potentials just above and

just below the surface. For example, the derivatives in Eq. 2.36 are the fimiting values as
we approach the surface from either side.

Problem 2.30
{a} Check that the results of Exs. 2 4 and 2.5, and Prob. 2.11, are consistent with Eq. 2.33.

i -
{b) Use Gauss’s law to find the fietd inside and outside a long hollow cylindrical tube, which
carries a uniform surface charge or. Check that your result is consistent with Eq. 2.33.

(c) Check that the result of Ex. 2.7 is consistent with boundary conditions 2.34 and 2.36.

2.4 Work and Energy in Electrostatics
2.4.1 The Work Done to Move a Charge

Suppose you have a stationary configuration of source charges, and you want to move a test
charge Q from point a to point b (Fig. 2.39). Question: How much work will you have to
do? At any point along the path, the electric force on O is F = QF; the force you must
exert, in opposition to this electrical force, is —QE. (If the sign bothers you, think about
lifting a brick: Gravity exerts a force mg downward, but you exert a force myg upward. Of
course, you could apply an even greater force—then the brick would accelerate, and part

a
Gis
*. e
1‘ q* . :],0 3
t :
Figure 2.39
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of your faflfort would be “wasted” generating kinetic energy. What we're interested in here
is the minimum force you must exert to do the job.) The work is therefore

I-I! b
w — F A Fal r w n Fa L L0 T LR IRNY
-- x — en = oy Ty
Ja Ja "

Notice that the answer is independent of the path you take from a to b; in mechanics, then
we wotld call the electrostatic force “conservative.” Dividing through by @, we ha\:e ,

w
Vib)—V(a) = —é- (2.38)

In wc')rds, the potential dz.‘ﬁerence between points a andb is equal to the work per unit charge
required to carry a p.am‘cie fromatob. In particular, if you want to bring the charge @ in
from far away and stick it at point r, the work you must do is

W = Q{V{r) — V(o0)],
so, if you have set the reférence point at infinity,
W= QVI(r). 2.39)
In this sense potential is potential energy (the work it takes to create the system) per unit

charge (just as the field is the force per unit charge).

24.2 The Energy of a Point Charge Distribution

g:,; ::mig ;orkhwould 1.t take to assemble an entire collection of point charges? Imagine
- wor]f " e ;:l arges, one by one, from far away (Fig. 2.40). The first charge, ¢/, takes
e w.“, ince there is no field yet to fight against. Now bring in ¢. According to Eq. 2.39

tll cost you g,V (r3), where V| is the potential due to ¢y, and r; is the place we’re’

putting ¢;:
1
Wy = o
ame? (412

Figure 2.40
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(212 is the distance between g1 and g2 once they are in position). Now bring in 43 this
requires work g3¥1.2(F3), where Vi 2 is the potential due to charges g1 and g2, namely,

(1 /ameo)(qi/m3 -+ q2/723)- Thus

l g1 {2
Wi = —+— -
} 4n€0q3 (413 ’m)

Similarly, the extra work to bring in g4 will be

1 3y
W4=4—r'—f14(q_l+iz“+q—)'
T E€Q 214 24 234

The total work necessary to assemble the first four charges, then, is

W_.

T 4meg

1 (4142 e +q144+q243 4 P29 _l_qm:x)
212 213 214 %23 224 234

You see the general rule: Take the product of each pair of charges, divide by their separation

distance, and add it all up:
1 o~ 4id)
W=-— = (240)
4mep '; § 2
=
The stipulation j > i is justio remind you not to count the same pair twice. A nicer way
to accomplish the same purpose 15 intentionally to count each pair twice, and then divide
by 2:

l n n

3y 24 (2.41)

’L,‘j

" Brey

i=1 j=I1

J#i
{we must still avoid i = j, of course). Notice that in this form the answer plainly does not
depend on the order in which you assembie the charges, since every pair occurs in the sum.
Let me next pull out the factor gi:

l n n ] qj
w==Ya|X oo
22‘1' ;4?{604;';

J#i

The term in parentheses is the potential at point r; (the position of g;) due to all the other
charges—all of them, now, not just the ones that were present at some stage in the building-

up process. Thus,

l n
W= E ‘:Zlq' V) (242)

That's how much work it takes to assemble a configuration of point charges; it’s also the
amount of work you'd get hack out if you dismantled the system. In the meantime, it
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represents energy stored in the configuration (“potential” i i
: . energy, if you like, thou
obvious reasons 1 prefer to avoid that word in this context). Y oueh for

Problem 2.3t

(a) Three charges are situated at the corners of a square (side a), as shown in Fig. 2.41. How

much work does it take to bring 1 i
much » o bring in another charge, +q, from far away and place it in the fourth

¢

(b) How much work does it take to assemble the whole configuration of four charges?

*q -4

Figure 241

243 The Energy of a Continuous Charge Distribution
For a volume charge density o, Eq. 2.42 becomes

1
W= 5fder. (2.43)

g:le c:)_rresponding integrals for line and surface charges would be favdiand foVda
hy tPec ively.) Tﬁere is a lovely way to rewrite this result, in which o and V are e]iminated,
avor of E. First use Gauss's law to express p in terms of E:

o=V -E so w:%‘i[(v-E)vcir.

No i i
W use Integration by parts (Eq. 1.59) to transfer the derivative from E to V:

W=%‘[—fla-(vvmr+§vp:.da].

w=21 [ E2a
=3 r+fVE-da ) (2.44)
1% &

Bllt VV = -—E! S0
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But what volume is this we're integrating over? Let’s go back 'to the formula :e star_le:

i From its derivation, it is clear that we should integrate over the regio
with, Bg 24% is located. But actually, any larger volume would do just as well: The
where the c.ha:ge b in will Aentribmte nothing to the integral anyway, since g = 0
o there. With this in m to Eq. 2.44, What happens here, as we enlarge the

_ With this in mind, let’s return asv «
gg:uﬂ::e beyond the minimum necessary to trap atl the charge? Well, the integral of E* can

only increase (the integrand being positive), evidently thfc surface inte%;al r}r‘mstede;teg:
correspondingly to leave the sum intact. In fact, at large dfstanges from lc: charge, ti o

like 1/¢? and V like 1/7, while the surface area grows like r. Rougl; ﬁpe:l:;ng;u th;
the surface integral goes down like 1/r. Please unders'tand that E(111 [h hgl )ybul e
correct energy W, whatever volume you use {as long as it encloses a the ¢ E;rge ,S ot he

contribution from the volume integral goes up, and that of tl}e surface mteg;? g:e ; The,;
as you take larger and larger volumes. In particular, why not integrate over ail space-

the surface integral goes to Zero, and we are left with

w="2 f E2dr. (2.45)
2

all space

Example 2.8

Find the cnergy of a uniformly charged spherical shell of total charge ¢ and radius R.

Solution 1: Use Eq. 2.43, in the version appropriate to surface charges:
1
= = oV da.
w=s [

Now, the potential at the surface of this sphere is (1/4€p)q/R (a constant), 50
2
I g 1 ¢
=-—=foda=——+.
W 8meg R [ 8reg R

Solution 2:  Use Eq. 2.45. Inside the sphere B = 0; outside,

q2

(43'!’60)21‘4 '

|

E= I, so EZ=

]

1
Amegr
Therefore,

2
Wt = — 2 f T} (2 sin6 dr 46 dg)
ot 2dnep)? )

outside

2

1 2 % 1 q
—dr = ———.

321’[26(]q 4 fR r? 8meg R
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Problem 2.32 Find the energy stored in a uniformly charged solid sphere of radius R and
charge g. Do it three different ways:

FAET__ P A an ar r

Lt w1 mom
Kwg e A e Pk AW S UAREM MIEA RILOASEILLMAL G08 R EWUS bkl

(b) Use Eq. 2.45. Don’t forget to integrate over all space.
(c) Use Eq. 2.44, Take a spherical volume of radius a. Notice what happens as @ —» oc,

Problem 2.33 Here is a fourth way of computing the energy of a uniformly charged sphere:
Assemble the sphere layer by layer, each time bringing in an infinitesimal charge dgq from far
away and smearing it uniformly over the surface, thereby increasing the radius. How much
work d W does it take to build up the radius by an amount dr? Integrate this to find the work
necessary 1o create the entire sphere of radius R and total charge g.

244 Coinments on Electrostatic Energy

(i) A perplexing “inconsistency.” Equation 2.45 clearly implies that the energy of a
stationary charge distribution is always positive. On the other hand, Eq. 2.42 (from which
2.45 was in fact derived), can be positive or negative. For instance, according to 2.42, the
energy of two equal but opposite charges a distance 2 apart would be —(1 /4neo)(q2 f2).
What’s gone wrong? Which equation is correct?

The answer is that both equations are correct, but they pertain to slightly different
situations. Equation 2.42 does not take into account the work necessary to make the point
charges in the first place; we started with point charges and simply found the work required
to bring them together. This is wise policy, since Eq. 2.45 indicates that the encrgy of a
point charge is in fact infinite:

2 2 oo
[ €0 q 2 . q 1
- dpy = 1 — — dr = oo.
W 2(4::50)2f(r4)(r sin@dr d d¢) Snsoj(; 3 dr = oo

Equation 2.45 is more complete. in the sense that it tells you the total energy stored in
a charge configuration, but Eq. 2.42 is more appropriate when you're dealing with point
charges, because we prefer (for good reason?) to leave out that portion of the total energy
that is attributable to the fabrication of the point charges themsetves. In practice, after
all, the point charges (clectrons, say) are given to us ready-made; all we do is move them
around. Since we did not put them together, and we cannot take them apart, it is immaterial
?’0“’ much work the process would involve. (Still, the infinite energy of a point charge
15a !'ecurring source of embarrassment for electromagnetic theory, afflicting the quantum
version as well as the classical. We shall return to the problem in Chapter 11.)

‘NOW, You may wonder where the inconsistency crept into an apparently water-tight
derivation, The “flaw™ lies between Eqs. 2.42 and 2.43: In the former, V(r;) represents
the Polential due to all the other charges but not q;, whereas in the latter, V (r) is the full
PPteﬂtlal. For a continuous distribution there is no distinction, since the amount of charge
nght at the point r is vanishingly small, and its contribution to the potential is zero.
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(i) Where is the energy stored? Equations 2.43 and 2.45 offer two different ways of
calculating the same thing. The first is an integral over the charge distribution; the second
is an integral over the field. These can involve completely different regions. For instance,
i thz ooz of ke cohesical chall (Ry 2 81 the charee is confined to the surface, whereas the
electric field is present everywhere outside this surface. Where is the energy, then? Is it
stored in the field, as Eq. 2.45 seems to suggest, or is it stored in the charge, as Eq. 2.43
implies? At the present level, this is simply an unanswerable question: 1can tell you what
the total energy is, and [ can provide you with several different ways to compute it, but it is
unnecessary to worry about where the energy is located. In the context of radiation theory
(Chapter 11) it is useful (and in General Relativity it is essential) to regard the energy as

being stored in the field, with a density

%E 2= energy per unit volume, (2.46)

But in electrostatics one could just as well say it is stored in the charge, with a density % pV.
The difference is purely a matter of bookkeeping.

(jii) The superposition principle. Because electrostatic energy is guadratic in the
fields, it does not obey a superposition principle. The energy of a compound system is not
the sum of the energies of its parts considered separately—there are also “cross terms™

€ €|
Wi = -_22 Eldt = ?0 f(El +E2)dr
€0 2 2
= E[(E, + Ej +2E; - Ep)dr
= Wit Wt [E B @47)

For example, if you double the charge everywhere, you guadruple the total energy.

Problem 2.34 Consider two concentric spherical shells, of radii @ and b. Suppose the inner
one carries a charge g, and the outer one a charge —q (both of them uniformly distributed
over the surface). Calculate the energy of this configuration, (2} using Eq. 2.45, and (b) using
Fq. 2.47 and the results of Ex. 2.8.

2.5 Conductors

2.5.1 Basic Properties

In an insulator, such as glass or rubber, edach electron is attached to a particular atom. In a
metallic conductor, by contrast, one or more electrons per atom are free to roam about at will
through the material. (In liquid conductors such as salt water it is ions that do the moving.)

A perfect conductor would be a material containing an unlimited supply of completely free
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charges. In reall life there are no perfect conductors, but many substances come amazingly
close. From this definition the basic electrostatic properties of ideal conductors immediately
follow:

(i) E = U inside a conductor. Why” Because if there were any field, those tree charges
would move, and it wouldn’t be electrostatics any more. Well . . . that's hardly a satisfactory
explanation; maybe all it proves is that you can’t have electrostatics when conductors are
present. We had better examine what happens when you put a conductor into an external
electric field Eq (Fig. 2.42). Initially, this will drive any free positive charges to the right
and negative ones to the left. (In practice it’s only the negative charges—electrons—that’
do the moving, !:mt when they depart the right side is left with 2 net positive charge—the
stationary nuclei—so it doesn't really matter which charges move; the effect is the same.)
When they come to the edge of the material, the charges pile up: plus on the right side
minus on the left. Now, these induced charges produce a field of their own, E;, which a;
you can see from the figure, is in the opposite direction to Eg. That's the crucial point. ‘for
it means that the field of the induced charges tends fo cancel off the original field. Ch;rge
will continue to flow until this cancellation is complete, and the resultant field inside the
conductor is precisely Zero.” The whole process is practically instantaneous. '

R
_ral
R T o T R,

{1 O I A

e}
IS

Figure 2.42

. (]ii) # =1 inside a conductor. This follows from Gauss's law: V. E = pleo. TE =0,
-n also is p, Thlere is stil] charge around, but exactly as much plus charge as minus, so the
et charge density in the interior is zero.

(3ii) Any net charge resides on the surface. That's the only other place it can be.

i . .
Surrfl:) A com_luctor is an equipotential. For if a and b are any two points within (or at the
€ of) a given conductor, V (b) — Via) = — f:E -dl = 0, and hence V (a) = V(b).

7
Outsi, H
side the conductor the field is not zero. for here Eg and E; do not cancel.
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E

Conductor
E=0

Figure 2.43

(v) E is perpendicular to the surface, just outside a conductor. Otherwise, as in (i),
charge will immediately flow around the surface vntil it kills off the tangential component
(Fig. 2.43). (Perpendicular to the surface, charge cannot flow, of course, since it is confined
to the conducting object.)

1think it is strange that the charge on a conductor flows to the surface. Because of their
mutual repulsion, the charges naturally spread out as much as possible, but for alf of them
to go to the surface seems like a waste of the interior space. Surely we ceuld do better, from
the point of view of making each charge as far as possible from its neighbors, to sprinkle
some of them throughout the volume. .. Well, it simply is ot so. You do best to put all the
charge on the surface, and this is true regardless of the size or shape of the conductor.?

The problem can also be phrased in terms of energy. Like any other free dynamical
system, the charge on a conductor will seek the configuration that minimizes its potential
energy. What property (iif) asserts is that the electrostatic energy of a solid object (with
specified shape and total charge) is a minimurn when that charge is spread over the surface.
For instance, the energy of asphere is (1/8€g)(g%/ R) if the charge is uniformly distributed
over the surface, as we found in Ex. 2.8, butitis greater, (3/20m€g)}(g°/ R), if the charge is
uniformly distributed throughout the volume (Prob. 2.32).

25.2 Induced Charges

If you hold a charge +¢ near an uncharged conductor (Fig. 2.44), the two will attract one
another, The reason for this is that g will pull minus charges over to the near side and repel
plus charges to the far side. {Anaother way to think of it is that the charge moves around in
such a way as to cancel off the field of g for points inside the conductor, where the total
fietd must be zero.) Since the negative induced charge is closer to g, there is a net force of
attraction. (In Chapter 3 we shall calculate this force explicitly, for the case of a spherical
conductor.)

%8y the way, the one- and two-dimensional analogs are quite different: The charge on a conducting disk does
nat all go to the perimeter (R. Friedberg, Am. J. of Phys. 61, 1084 (1993)), nor does the charge on a conducting
needle go to the ends (D. J. Griffiths and Y. Li, Am. J. of Phys. 64, 706 (1996)). See Prob. 2.52.
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Gaussian
surface

Conduictor

Figure 2.44 Figure 2.45

By. the way, when [ speak of the field, charge, or potential “inside™ a conductor, I
mean m‘ the “meat” of the conductor: if there is some cavity in the conductor, and wili;in
that cavity there is some charge, then the field in the cavity will not be zero. But in a
remarkable way the cavity and its contents are electrically isolated from the outside world
by the surrounding conductor (Fig. 2.45). No external fields penetrate the conductor; they
are canceled at the outer surface by the induced charge there. Similarly, the field d’ue to
lcha:ges within the cavity is killed off, for all exterior points, by the induced charge on the
inner surface. (However, the compensating charge left over on the outer surface of the
confiuctor effectively “communicates” the presence of g to the outside world, as we shall
seein Ex. 2.9.) Incidentally, the total charge induced on the cavity wall is equal and opposite
to t.he char.ge inside, for if we surround the cavity with a Gaussian surface, all points of
which are in the conductor (Fig. 2.45), §E - da = 0, and hence (by Gauss’s law) the net
enclosed charge must be zero. But Penc = § + Finduced » 50 ¢ induced = —¢.

Example 2.9

An unchargec_i spherical conductor centered at the origin has a cavity of some weird shape
carved out of it (Fig. 2.46). Somewhere within the cavity is a charge g. Question: What is the
field outside the sphere?

Conductor

Figure 2.46



100 CHAPTER 2. ELECTROSTATICS

Solution: At first glance it would appear that the answer depends on the shape of the cavity
and on the placement of the charge. But that’s wrong: The answer is

F—!

_ 1,
ameg re

regardless. The conductor conceals from us all information concerning the nature of the cavity,
revealing only the total charge it contains. How can this be? Well, the charge +¢ induces
an opposite charge —g on the wall of the cavity, which distributes itself in such a way that
its field cancels that of g, for all points exterior to the cavity. Since the conductor carries no
net charge, this leaves +g to distribute itsclf uniformly over the surface of the sphere. (It's
uniform because the asymmetrical influence of the point charge +q is negated by that of the
induced charge —g on the inner surface.} For points outside the sphere, then, the only thing
that survives is the field of the leftover -+g, uniformly distributed over the outer surface.

1t may occur to you that in one respect this argument is open to challenge: There are actually
three fields at work here, By, Einguced » and Ejeqiver . All we know for certain is that the sum
of the three is zero inside the conductor, yet 1 claimed that the first two alone cancel, while
the third is separately zero there. Moreover, even if the first two cancel within the conductor,
who is to say they still cancel for points outside? They do not, after all, cancel for points
inside the cavity. I cannot give you a completely satisfactory answer at the moment, but this
much at least is true: There exists a way of distributing —g over the inner surface so as to
cancel the field of g at all exterior points. For that same cavity could have been carved out of
a huge spherical conductor with a radius of 27 miles or light years or whatever. In that case
the leftover +¢ on the outer surface is simply too far away to preduce a significant field, and
the other two fields would have to accomplish the cancellation by themselves, So we know
they can do it ... but are we sure they choose to? Perhaps for small spheres nature prefers
some complicated three-way cancellation. Nope: As we'll see in the uniqueness theorems of
Chapter 3, electrostatics is very stingy with its options; there is always precisely one way-—no
more——of distributing the charge on a conductor so as to make the field inside zero. Having
found a possihle way, we are guaranteed that no alternative exists even in principle,

if a cavity surrounded by conducting material is itself empty of charge, then the field
within the cavity is zero. For any field line would have to begin and end on the cavity wall,
going from a plus charge to a minus charge (Fig. 2.47). Letting that field line be part of a
closed loop, the rest of which is entirely inside the conductor (where E = 0), the integral

Figure 2.47
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§ E.- dlis distinctly positive, in violation of Eq. 2.19. Tt follows that E = 0 within an empty
cavu'y. and the.re ‘is in fact no charge on the surface of the cavity. (This is why you are
relatively safe inside a metal car during a thunderstorm—you may get cooked, if lightning

RIS | R I

el ot o Chlluumd, TIL SAIS PUILIPIE APPLES O (Ne placement ot
scnlelVC apparatus inside a grounded Faraday cage, to shield out stray electric fields, In
practice, the enclosure doesn’t even have to be solid conductor—chicken wire will often

suffice.)

e e e

Problem 2.3.5 A metal sphere of radius R, carrying charge g, is surrounded by a thick concentric
metal shell (inner radius a, outer ractius b, as in Fig. 2.48). The shell carries no net charge.

(a) Find the surface charge density o at R, at a, and at b.
{b) Find the potential at the center, using infinity as the reference point.

{c) Now thc. outer surface is touched to a grounding wire, which lowers its potential to zero
{same as at infinity). How do your answers to (a) and (b) change?

Problem 2.36 ']\A_ro spherical cavities, of radii a and b, are hollowed cut from the interjor of a
-(neutral) conducting sphere of radius R (Fig. 2.49). At the center of each cavity a point charge
is placed—call these charges g, and gy,

(a) Find the surface charges o, o3, and o g.
(b) What is the field outside the conductor?
(c) What is the field within each cavity?

(d} What is the force on g, and g7

{e) Which of these answers would change if a third charge, g¢, were brought near the conductor?

Figure 2.48 Figure 2.49
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253 Surféce Charge and the Force on a Conductor

Because the field inside a conductor is zero, boundary condition 2,33 requires that the field

immediately oursiae 1>
a

E = —n, (2.48)
€0
consistent with our earlier conclusion that the field is normal to the surface, In terms of
potential, Eq. 2.36 yields
g =—€y-—. .
L (249
These equations enable you to calculate the surface charge on a conductor, if you can
determine E or V; we shall use them frequently in the next chapter.

In the presence of an electric field, a surface charge will, naturally, experience a force; the
force perunit area, f, is o E. But there’s a problem here, for the electric field is discontinuous
at a surface charge, so which value are we supposed to use: Eapove, Epelow. OF something in
between? The answer is that we should use the average of the two:

1
f= UEavemge = EU(Eabove + Ebeiow). 2.50)

Why the average? The reason is very simple, though the telling makes it sound complicated:
Let’s focus our attention on a small patch of surface surrounding the point in question
(Fig. 2.50). Make it tiny enough so it is essentially fat and the surface charge on it is
essentially constant. The total field consists of two parts—that attributable to the patch
itself, and that due to everything else (other regions of the surface, as well as any external
sources that may be present):

E= Epau:h + E other -

Now, the patch cannot exert a force on itself, any more than you can lift yourself by standing
in a basket and pulling up on the handles. The force on the patch, then, is due exclusively
to E qper, and this suffers no discontinuity (if we removed the patch, the field in the “hole”
would be perfectly smooth). The discontinuity is due entirely to the charge on the patch,

1
7 Okt

Figure 2.50
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which puts out a field (o/2¢p) on either side, pointing away from the surface (Fig. 2.50).

Thus, o
Eabnve = Eother + ——ﬁ|
2en

o .
'Ebelow = Eolher - n,
2€p

and hence i :
Eother = E(Eabovc + Ebeiaw) = Euverage-

Averaging is really just a device for removing the contribution of the patch itself.

That argument applies to any surface charge; in the particular case of a conductor, the
field is zero inside and (¢ /€p)1i cutside (Eq. 2.48), so the average is (¢ /2¢g)h, and the force
per unit area is

f=_ 0% (2.51)
2eg

This amounts to an ocutward electrostatic pressure on the surface, tending to drav_v the.
conductor into the field, regardless of the sign of o, Expressing the pressure in terms of the I

field just outside the surface, . i
P=2g @5

Problem 2.37 Two large metal plates (each of area A} are held a distance 4 apart. Suppose
we put a charge  on each plate; what is the electrostatic pressure on the plates?

Problem 2.38 A metal sphere of radius R carries a total charge Q. What is the force of
repulsion between the “northern™ hemisphere and the “southern™ hemisphere?

254 Capacitors
Suppose we have twe conductors, and we put charge +Q on one and —Q on the other
(Fig. 2.51). Since ¥ is constant over a conductor, we can speak unambiguously of the
potential difference between them:

+)

V=V -V_=— E.dl
-}

We don’t know how the charge distributes itself over the two conductors, and calculating
the field would be a mess, if their shapes are complicated, but this much we do know: E is
proportional to Q. For E is given by Coulomb’s law:

| D .
E= — —ad
41150,[42 o
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Figure 2.51

so if you double p, you double E. {Wait a minute! How do we know that doubling ¢ (and
also — () simply doubles p? Maybe the charge moves around into a completely different
configuration, quadrupling g in some places and halving it in others, just so the fotal charge
on each conductor is doubled. The fact is that this concern is unwarranted—doubling
does double p everywhere; it doesn't shift the charge around. The proof of this will come
in Chapter 3; for now you'll just have to belicve me.)

Since E is proportional to Q, so also is V. The constant of proportionality is called the
capacitance of the arrangement:

=—. (2.53)

Capacitance is a purely geometrical quantity, determined by the sizes, shapes, and separation
of the two conductors. In $1units, C is measured in farads (F); afaradisa coulomb-per-volt.
Actually, this turns out to be inconveniently large;® more practical units are the microfarad
(107% F) and the picofarad (10~ '2 F),

Notice that V is, by definition, the potential of the positive conductor less that of the
negative one; likewise, © is the charge of the positive conductor. Accordingly, capacitance
is an intrinsically positive quantity. (By the way, you will occasionally hear someone
speak of the capacitance of a single conductor. In this case the “second conductor,” with
the negative charge, is an imaginary spherical shell of infinite radius surrounding the one
conductor. It contributes nothing to the field, so the capacitance is given by Eq. 2.53, where
V is the potential with infinity as the reference point.)

Example 2.10

Find the capacitance of a “parallel-plate capacitor” censisting of two metal surfaces of area A
held a distance o apart (Fig. 2.52).

Figure 2,52

®In the second edition I claimed you would need a forklift to carry a | F capacitor. This is no longcr the
Case—you can now buy a 1 F capaciter that fits comfortably in a soup spoon,
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Solution: If we put +  on the top and — @ on the bottom, they will spread out uniformly over
the two surfaces, provided the area is reasonably large and the separation distance small. 10
The surface charge density, then, is 0 = /A on the top plate, and so the field, according to
Fv 78 ic (1 /eaV) /A The notential difference between the plates is therefore

v 24
Aeg

and hence A

€0
=—. 2.54

y (2.54)
If, for instance, the plates are square with sides 1 cm long, and they are held 1 mm apart, then
the capacitance is 9 x 10-13F

Example 2,11

Find the capacitance of two concentric spherical metal shells, with radii @ and b.

Solution: Place charge +Q on the inner sphere, and — @ on the outer one. The field between
the spheres is
E= %
dmweq rl

so the potential difference between them is

a o (21 0 (1 1)
= — . - — ——dr=—\|-—=-1.
v _/[;Edl 47!'60./}; r2 4 dreg \a b

As promised, V is proportional to (; the capacitance is

€ _ e
v b—a)

To “charge up” a capacitor, you have to remove electrons from the positive plate and
carry themn to the negative plate. In doing so you fight against the electric field, which is
pulling them back toward the positive conductor and pushing them away from the negative
one. How much work does it take, then, to charge the capacitor up to a final amount Q7
Suppose that at some intermediate stage in the process the charge on the positive plate is
4. so that the potential difference is ¢/C. According to Eq. 2.38, the work you must do to
transport the next piece of charge, dq, is

dW = (%) dq.

1%The exact solution is not easy—even for the simpler case of circular plates, See G, T. Carlson and B. L. ¥llman,
Am. . Phys, 62. 1099 (1994),
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The total work necessary, then, to go fromg =Otog = @, is
Q 102
q 2
W= =1d
[1 (C) =3¢

or, since @ = CV, :
W= Ecvz, (2.55)

where V is the final potential of the capacitor.

Problem 2.39 Find the capacitance per unit length of two coaxial metal cylindrical tubes, of
radii @ and b (Fig. 2.53).

Figure 2.53

Problem 2.40 Suppose the plates of a parallel-plate capacitor move closer together by an
infinitesimal distance ¢, as a result of their mutual attraction.

(a) Use Eq. 2.52 to express the amount of work done by electrostatic forces, in terms of the
field E, and the area of the plates, A.

(b} Use Eq. 2.46 to express the energy lost by the field in this process.

(This problem is supposed to be easy, but it contains the embryo of an alternative derivation
of Eq. 2.52, using conservation of energy.)

More Problems on Chapter 2

Probiem 2.41 Find the electric field at a height z above the center of a square sheet (side a)
carrying a uniform surface charge 0. Check your result for the limiting cases @ — oo and
@ a

[Answer: (o/2ep)(4/m) tan™ ! /1 + (a2/222) — 1}]

Problem 2.42 If the electric field in some region is ngen (in spherical coordinates) by the
expression
Af+ Bsinfcosg ¢

" .

Er) =

where A and B are constants, what is the charge density? [Answer: eg(A — B sing)/r?]
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Problem 2.43 Find the net force that the southern hemisphere of a uniformly charged sphere
exerts on the northern hemisphere. Express your answer in terms of the radius R and the total

charge Q. [Answer: (1/4x€9)(3Q%/16R%))

mobla A 44 B o ineested hamicnharieal kol of radine R earries # uniform surface charee

density o. Find lhc potential difference between the “north pole” and the center. {Answer:
(Ro/260)(v2 — 1))

Problem 2.45 A sphere of radius R carries a charge density p(r) = kr (where k is a constant).
Find the energy of the conﬁguranon Check your answer by calculating it in at least two
different ways. [Answer: sk RT/TGO]

Problem 2.46 The electric potential of some configuration is given by the expression

—Ar
viy=AS—,
r

where A and A are constants. Find the electric field E(r), the charge density p(r),2nd the total
charge Q. [Answer: p = egA(4n8>(r) — A2e ™V /r)]

Problem 2.47 Two infinitely long wires running parallel to the x axis carry uniform charge
densities +A and —A (Fig. 2.54).
(a) Find the potential at any point (x, y, z), using the origin as your reference.

(b) Show that the equipotential surfaces are circular cylinders, and locate the axis and radluq
of the cylinder corresponding to a given potential Vp.

Problem 2.48 In a vacuum diode, electrons are “boiled” off a hot cathode, at potential zero,
and accelerated across a gap to the anode, which is held at positive potential Vp. The cloud of
moving electrons within the gap (called space charge) quickly builds up to the point where it
reduces the field at the surface of the cathode to zero. From then on a steady current I flows
between the plates.

Suppose the plates are large relative to the separation (4 > dtin Fig. 2.55), so that edge
effects can be neglected. Then V, p, and v (the speed of the electrons) are all functions of x

alone.
z
/ e
A
Electron
a (]

y / y ' ‘
‘Anode

y Cathode WA

x V=0

Figure 2.54 Figure 2.35
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(a) Write Poisson’s equation for the region between the plates.

{b) Assuming the electrons start from rest at the cathode, what is their speed at point x, where
the potential is V (x)?

i) In the steadv statc. T is independent of x. What. then. is the relation between o and v?
(d) Use these three results to obtain a differential equation for V, by eliminating o and v.

(e) Solve this equation for V' as a function of x, Vg, and d. Plot V (x), and compare it to the
potential withour space-charge. Also, find p and v as functions of x.

(f) Show that
1=kvg"?, (2.56)

and find the constant K. {Equation 2.56 is called the Child-Langmuir law. It holds for other
geometries as well, whenever space-charge limits the current. Notice that the space-charge
limited diode is nonlinear—it does not obey Ohm'’s taw.)

Problem 2.49 Imagine that new and extraordinarily precise measurements have revealed an
error in Coulomb’s law. The actual force of interaction between two point charges is found to
be
| 12 ( AP
= 1 ~) /A4,
dmeg 42 + A ¢

where A is a new constant of nature (it has dimensions of length, obviously, and is a huge
number—say half the radius of the known universe—so that the correction is small, which is
why no one ever noticed the discrepancy before). You are charged with the task of reformulating
electrostatics to accommodate the new discovery. Assume the principle of superposition still
holds.

(2) What is the electric ficld of a charge distribution o (replacing Eq. 2.8)?

{b) Does this electric field admit a scalar potential? Explain briefly how you reached your
conclusion. (No formal proof necessary—just a persuasive argument.)

(c) Find the potential of & point charge g—the analog to Eq. 2.26. {If your answer to (b) was
“no,” better go back and change it!) Use oo as your reference point.

(d) For a point charge g at the origin, show that

1 1
Eda+—de = —gq,
fi‘:‘ 32y ’ Goq

where S is the surface, V the volume, of any sphere centered at g.

(e} Show that this result generalizes;

1 1
E'di-lv--—-f Vdr = — .
fs )"2 v T e[]QEIII::

for any charge distribution. (This is the next best thing to Gauss’s Law, in the new “electro-

statics"} §

(N Draw the triangle diagram (like Fig. 2.35) for this w&rld. putting in all the appropriate
formulas. (Think of Poisson’s equation as the formula for p in terms of V, and Gauss's law
(differential form) as an equation for g in terms of E.)
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Problemn 2.50 Suppose an electric field E(x. v, 7) has the form
Ey = ax, Ey=0. E.=0

where ¢ is a constant. What is the charge density? How do you account for the fact that the
field points in a particuiar direction, when the charge density is uniform? [This is a more subtie
problem than it looks, and worthy of careful thought.|

Problem 2.51 All of electrostatics follows from the | /r2 character of Coulomb’s law, logether
with the principle of superposition. An analogous theory can therefore be constructed for
Newton’s law of universal gravitation. What is the gravitational energy of a sphere. of mass M
and radius R, assuming the density is uniform? Use your result to estimate the gravitational
energy of the sun (look up the relevant numbers). The sun radiates at a rate of 3.86 x 1020 W,
if all this came from stored gravitational energy, how long would the sun last? |The sun is in
fact muoch older than that, so evidently this is not the source of its power.|

Problem 2.52 We know thal the charge on a conductor goes to the surface, but just how it
distributes itself there is not easy to determine. One famous example in which the surface
charge density can be calculated explicitly is the ellipsoid:

2 2 2
x ¥ z¢
In this case!! 12
i} .r2 y2 2.»2 -
= = 4 e . 2.57
7 mm(&+w+ﬂ @0

where () is the total charge. By choosing appropriate values for a, b, and ¢, obtain (from
Eq. 2.57): (a) the net (both sides) surface charge density o (r) on a circular disk of radius R:
{b) the net surface charge density o (x) on an infinite conducting “ribbon” in the x v plane,
which straddles the y axis from x = —a to x = a (let A be the total charge per unit length
of ribbon); (c} the net charge per unit length A{x) on a conducting “needle”, running from
x = —a to x = a. In each case, sketch the graph of your result.

' For the derivation (which is a real rour de force) sce W. R. Smythe, Static and Dyvnamic Electricity, 3rd ed.
(New York: Hemisphere, 1989), Sect. 5.02,



